Efficiency vs P,

- 02
o
2 0.18F
> -
2 0.16F
] E
0.14F
0.12F
0.1F
0.08F
0.06F
0.04F
0.02F
.0

e

Ratio
e
o

iy

=

o
iN

=

10 . Gedf’

MKEIT_T1base
mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
mkFit_TT_baseline_6iter

mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch4

= 0.2
IO S N R T

s A A
(C) C . . . . .
0_,0.16_
(8] L
£0.14
()

0.12
0.1
0.08F
0.06]
0.04
0.02F
LQF

A HE - (lE R
s

Ratio

|
w)|

|
N

|
=
OE=
[y
N
w

Efficiency vs ¢

s 0.1
g
20.09
2

) 0.08]
(S}
£0.07
(]
0.06¥T
0.05f
0.04F
0.03F

0.02k : : ; ; : !
Y1 SR RS SIS SO R

TITI I T




	Contents
	Page 1


